Fp

I'm not robot -
reCAPTCHA



https://trafffi.ru/123?utm_term=rudin+real+and+complex+analysis+solutions+chapter+10




Rudin real and complex analysis solutions chapter 10

1. The following fact has been tacitly used in this chapter: If $3A and $$B are separated subsets of the plane, if $3A is compact, and if $$B is closed, then there is $\delta &gt; 0% so much that $|\alpha - \beta | \geq \delta$ for all $\alpha\ in A$ and $\beta \ in B $. Prove this with any metric space in place of
the aircraft. Proof. Let $A$ is a compact kit and $B$ is closed in a metric zone, so $A\cap = \varnothing$. Let $\delta = \inf_{\alpha,\beta}d(+alpha,\beta)$ where the movie is accepted with all $\alpha \in A$ and $\beta\in B$, and let $\{a_n\}$, $\b_n$} be two sequences at $$A and $$B respectively so that
S\lim_{n\infty}d(a_n,b_n) = \delta$. Suppose $\delta = $0. Because $$A is compact, there is $c\in A$ and a subsect $\a_{n_k}}}$$ $\{a_n\\}}$ so $\lim_{k\to\infty}d(a_{n_k}},c) = 0%. Therefore a_{n_k{n_k},c) = $\lim__ lim_{k\to\inft b_y}d(a_{n_k},b_{n_k}) = 0%. Therefore$c \in \bar{B}=B$, which is contrary to
the hypothesis that $A\cap B = \varnothing$. So $\Delta &gt; $0. We'il draw the conclusion. $\Box$ 2. Suppose $$f is a whole feature and that in each power series $$ f(z) = \sum_{n=0}{\infty} c_n(z-a)n$$ at least one factor is $0$. Show that $3f is polio. Hint. $nlc_n = * {(n)}(a)$. Proof. Let $a\in
\mathbb{C}$. Consider the series from $$f to $$a, we have $$ f(z) = \sum\limits_{n=0}{\infty}c_n(z-a)"n. $$By admission, $c_n = $0 for some $$n\leq 0. By $n!c_n = fA(n)}(a)$, we get ${(n)}(a) = 0% for some $$n\leq 0. Insert $K = \{z:f* (n)}(z) = 0 \text{ for some }n\leq 0\}$, we have $a \in K$. This
applies to any $a\in \mathbb{C}$. So the $K = \mathbb{C}$. Additionally, we have $$ K = \bigcup\limits_{n=0}*{\infty}\{z:f* {(n)}(z) = 0\}. $3 If for every $$n, we don't have $f* {(n)}(z) = $0 for every $z\in \mathbb{C}$, then $\{z:f*(n)}(z) = O\}$ is a graphable set for all $n$. Therefore$K$ is a graphable set,
which is a contradiction $K = \mathbb{C}$. So $f* {(N)} = 0% for some $N\geq 0$. Consider the $$f electric series at $0$, we have $$f(z) = \limits_{n=0}" {\infty}b_n z n*. $$ C $f*(n)}(0)=0% for all $n\geq N$, we have $b_n = fA(n)}}(n)H}!!! = 03 for all $n\geq N$. We'ill draw the conclusion. $\Box$ 3. Suppose
the $$f and $$g are entire features, and $|f(z)| \leq |g(z)|$ for each $z$. What conclusion can you draw? Proof. $f = CG$, where $| C|C|100 1 BGN If $g$1 does not disappear in $imathbb{C}$, then $Z(g)$ there is no limit. Place $h = f/g$, then $h \in \mathbb{C}\backlash Z(g)$ and $$h is a meromorphic
feature in $\mathbb{C}$. Let $a\ in Z(g)$. At the suggestion, $|h|\leq $1 in a deleted disk $D'(a,r)$ for some $$r &gt;0$ such that $$geq 0 in $D'(a, r)$. So $h$ has a removable singularity in $a $100. This is true for all $a\in Z(g)$, hence $h\in H(-mathbb{C})$ and $|h|\leg$ in $\mathbb{C}$. According to the
of Liuville, $h$ is a constant $C$ at $imathbb{C}$. So we're $f = Cg$ Cg$ sicHo e, ye $| B|C|100 1 nB. 3a cnyyasa $g =0%$ B $\mathbb{C}$, nonyuyasame $f = 0$ B $\mathbb{C}$, cnegosarenHo $f= Cg$ c $C = 0$. O6paTHO, ako $f=Cg$ n $| C|\leq $1, cneg Toea $|f\leq | C|| g| \leq |g|$. $\Box$ 7. Ako $flin
H(\Omega)$, hopmynata Ha Cauchy 3a npoussogHute Ha $f$, $$ f A{(n)}(z) = \frac{n'} {2\pi iNint_{\Gamma}\frac{f(\zeta)}} {(\zeta) M{n+1}\,d\zeta\qquad (n=1,2,3,\ldots) $$ e BanimgeH npu onpegenexHun ycnosusa Ha $z$ n $Gamma$. Jaite Te3n 1 gokaxete popmyniata. Jokasarencrso. $Gammas e unkbN
B $\Omera$, $\mathrm{{{}=0% 3a Bcnukm $aotin \Omera$, $z\s \Omera\backslash \Gamma$, n $\mathrm{{{}}(z) = 1$. Ypes chopmynata Ha Kowu, npu ropHute ycnosus, umame $$ f(w) = \frac{1}{2\pi i\int_{\Gamma}\frac{f(zeta){zeta-w},d zeta\\qquad (W\in\%%%% backslash\Gamma). $$ Heka $r &gt; 0$
Taka, 4ye $D(z;r)\subset\Omega\backslashlash\Gammas$. 3a $w \B D'(z;r/2)$, umame $$ $ $ $ $ frac {f(w)-f(z)}} = \frac{1H{2\pi i(w-z)\int_{\Gamma}f(\zeta)\Hanaso(\frac{1}{\zeta-w} - frac{1}{\zeta-\zeta-\\ zeta-\ , d\zeta. OctaBeTe $w 3a ga ce neuem. $$ lim_ {w\to z)\frac{LH{w-z}\left(\frac{1}{zeta-w} - \frac{1}
{\zeta - zMright) = \Hansaso(\frac{1}{\zeta-z}-HagscHo)' = \frac{1}{(-z*2"1}. $$ OcBeH TOBa, 3a Bcn4ikn $w \B D'(z;r/2)$, nmame $$ \naso|\frac{f(\zeta){w-zNleft(\frac{1}{\zeta-w} - \frac{1}{\zeta - z}\right)\! = \Hansaso|\frac{ f(\zeta)}} {(\zeta-w) (\zeta-z)\HagscHo|\leq \frac{4K{r 2} \|f \||
_=_=\Gamma}\qquad(\zeta\in\Gamma). $$ J/leceH aprymeHT, 4ypes npunaraHe Ha JOMUHMpaHaTa Teopema 3a cbmxaBaHe nokassa, ye $$ $ f'(z) = \lim_{w\to zZ)M(f(f)-f(z) {w-z} =\frac{1}{2\pi and}\int_\{Gamma}\frac{f(zeta) {\\\-z)zeta 2}\,d\zeta. $$ Hne cme gokazanm HeobxogumaTa hopmyna 3a cryyas $n=
$ 1. Zabenexete, ye $$ \lim_{w\to zZ)\frac{1H{w-z\Hansaso(\frac{1}{zeta-w)"n} - \frac{1}{(Zeta-z)"nP\HagsacHo) = \\frac Hansso(\frac{1}{(zeta-z)* np\HagsacHo)' = \frac{1}{(zeta-z) " {n +1}} $, a 3a Bcuukm $w \B D'(z;r/2)$, nmame $$ \begin{ nogpasHeHn: \\Hansaso|\frac{f(\zeta){ w-z)\nanaso(\frac{1}{(zeta-w)"n} -
\frac{1}{(zeta-z)"n\HagacHo)\HaasicHo | &amp;= \naBo|\frac{ f(\zeta)\sum_{i=0}{n-1}(\zeta-w)"i(\zeta-z)" {3eTa-1}}{(zeta-w)"n(zeta\-n}}n}in}}n}}aacHo| \\ &amp;\ &amp;gt; Hanaso [f(\zeta)\limits_{i=0}" {n-1}\frac{1}{(zeta-w){n-i}(\zeta-z ) N and}\gacHa|\\ \\2"n}H{ r*n}\|\|==Gamma}\qquad (\zeta\in\Gamma).
\end{aligned} $$ $$ Mo MHAYKUMOHHA NpoLieaypa, FOpHUTE GeNexkn 1 Nogo6EeH apryMeHT, KakbBTO e cnydaaT $n = $1, moxem ga gokakeM Heobxoammata phopmyna 3a npoussosiHn $n \geq $1. $\Box $19. Aa npeanonoxmm, ye $f\ B HU)$, $g\ B H(U)$, 1 Huto $f$ nnun $g$ nma Hyna B $US. Ako $$ \frac{
fH fNleft(\frac{1}{nN\HagsacHo) = \frac{ gi{gHgHgH{Hansaso(\frac{1}{n}right)\qqua d (n=2,3,\ldots), $$ Hamepu gpyra npocTta Bpb3ka mexay $f$ n $g$. okazarencteo. $f=Cg$, kbaeto $Ceq $0. MocTaBeTe $h = f/g$. AcHo e, ye $h\B H(U)$. OcBeH ToBa, ¢ $$ h'(z) = \frac{f'(z)g(z)- f(z)g9'(z2)H{9"2(z)}, $$ Hne
Sh{1}$${1} $n${1}${1}$$50{1}$$$3{1} as $n \ for $ infty$ , we get $h' (z) = 0 $ for every $z \ in U$ . So $h(z) = h(0) + int_{[0,z]}}h'(w)\,dw = h(0)$ for all $z \in \mathbb{C}$. Put $C = h(0) =f(0)/g(0)0$, we get $f = CG$. If $f = Cg$ and $Ceq 0%, we get $f'(2)/f(z) = g'(z)/g(z)$for all $z\in U$, in particular for
$S\frac{1H{n}$, $n=2,3\Idots$\$\$21. Assume that the $fin H\Omega)$, $YOmega$ contains the closed packing element and $|f(z)| &lt; $1 if it is $|z|=1%. How many fixed points should $f$ in the disk? That is, how many solutions does the $f (z)=z$ have there? Proof. 1 solution. Let $g$ and $$h be two
functions in $\Omega$, defined by $g(z) = f(z) - z$ and $h(z) = -z$ for every $z\in \Omega$. Allowed , $ |g(z) - h(z)| &lt; |h(z)| $ for all $z$ in the circle $\{z:|z|=1\}$. Through Rouché's theorem, we get the number of decisions of $$g in $D(0;1)$ equal to the number of decisions of $$h in $D(0;1)$, which
contains only one solution $z = 0 $. We'il draw the conclusion. $\Box$ 1. Suppose the $$u and $$v are truly harmonious features in the $i\Omegas$aircraft region. Under what conditions is $uv $harmonica? (Note that the answer depends heavily on the fact that the question is the question of real functions.)
Show that $$u”2 can't be harmonious at $\Omega$unless $u is constant. For which $f\in HAOmega)$ is $|f|*2$ harmonica? Proof. $u$ is constant or $3$v is constant or there is some real constant $Ceq 0%, so $u_x = Cv_y$, $u_y = -Cv_x$ (in other words, $u +iCv$ is holomorphic). $f $100,000 is
constant. Note that each harmonious function has continuous partial derivatives of all orders. Suppose the $$uv is a harmonica. which means $(uv)_{xx}+(uv)__ {yy}=0% in $iOmega$, of which $u_xv_xv_x + u_yv_y = 0% in $iOmega$ (because $u_{xx}+u_{yy}=0% and $v_{xx} +v_{yy}0$). that more that $Su
and $3$v are not permanent iv_x v_y $hiu_y u_x $g $h $g. If $Z(h) = \Omega$, then $v_x = v_y = $0 $v in $\ Omega$. $$D is a real part of the $$V holomorphic feature at $$D. $$V = v_x - $iv_y, we have $$V= $3D, therefore $3V is constant at $3D (for every $z , w$ at $$D, we have $V(z)-V(w) =
\int_{[z,w]}V'(\zeta)\,d\=0%), hence $v = \mathrm{const}$ in $D$. This argument shows that for every $z in Omega$, $$v is constant in some neighborhoods of $z$. Select $z_0 in \Omega$. Now it's easy to see that the $\ {z set in \Omega: v(z) = v(z_0)}$is both closed and open in $\Omega$, therefore it's
exactly $\Omega$ from the $\Omega$connectivity. This means that the $v$ is constant at $\Omega$, contrary to our assumption. So there $Z(h)$ there should be a point limit in $\Omega$. Put $k = g/h$, we have $k$ is a meromorphic function in $\ Omega$. But $$ k = \frac{gi{h}=h}=u_x - iu_yHv_y+iv_x}
=-u_yv_xH{v_x*2 + v_y"27\in mathbb{R}. \qquad (*) $$ Tam He He all non-implicit open subset of $\mathbb{R}$. So the $k$ is constant in any disk where there is $g zero (from the open card theorem). Now, fix $a\ in Z(h)$. Let $r&gt;0$ so that $D(0;r)\sub-set \Omega$ and $h(z)eq 0% for every $$z in $D'
(0;nN$. Then we have $$k is constant on each of the four discs $D(a+r/2;r/2)$, $D(a+ir/2;r/2)$, $D(a-r/2;r/2)$, $D(a-ir/2;r/2)$. Since the first disc intersects with the second, the second crosses with the third, and the third crosses with the fourth, we conclude that $$k is permanent in the union of these four
discs, therefore it is constant at $D(a;r/2)$, because $D(a;r/2)$is a subgroup of this alliance. So the $a$ is interchangeable singularity and $k$ is constant in the neighborhood $D(a;r/2)$ from $$a. Through the connectivity of $\Omega$, we get $k$ is constant at $\ Omega$. Mark this constant with $C$.
With $(*),, $C\in \mathbb{R}$, $Ceq 0% (if not, $u_x u_y=0% in $iOmega$, therefore $$u is constant) and $u_x = Cv_y$, $u_y = $Cv_x. We get the answer to the first question. Now, if $3u”2 is harmornic in $\Omega$, then, as above, we have $$u is constant or $u_x = $Cu_y, $u_y=-Cu_x$ for some real
constant $Ceq 0 $. The second case results in $u_x = u_y = 0$ in $\Omega$, which also implies that $u$ is constant. We confirm the second statement. (A simpler way to get this confirmation is that we take a laplase of $u~2$ and get $u_x = u_y =0%$.) For the last question, $f = u + iv $ . Since we $f
H(\Omega)$, we have $$u and $$v are harmonic in $\ Omega$. Now $|f|"2$ is $u” 2+ v*2$ is harmonious. Take laplacesian on $ur "2 + v~ 2%, we get $u_x=v_x=u_y =v_y =0$. So the $u $ and $v $ are constant, therefore the $f $ is constant. $\Box$ 2. Suppose $3f is a complex feature in region
$\Omega$, and $$f and $$f123$ are harmonious at $\Omega$. Prove that either $$f or $\bar{f}$ is holomorphic at $\Omega$. Proof. Place $f = u + iv$. Because $f $1 is harmonious, $u $$v$100 is harmonious. Suppose the $2 $f is harmonious at $\Omega$, suggesting $$u”2 - v *2$ and $3uv are
harmonious. Through Exercise 1, $$uv, a harmonica leads to $$u is constant or $$v is a constant or there is a non-zero real constant $C$ so that $u_x = $Cv_y and $u_y = -$Cv_x. If $u$ is constant, then $$v"2 is harmonious (because $$u"2-v*2$ is harmonious), therefore $$v is constant from Excercise
1. Similarly, $$v is constant, we conclude that $$f is permanent if $$u or $$v is permanent, therefore both $$f and $\bar{f}$ is holomorphic. Suppose the $$f is not a constant. Take a laplasia from $u”2-v*2$, we get $(u_x) * 2 +(u_y) = (V_x)"2 + (v_y)"2$. Replace $u_x = Cv_y$ and $u_y = -Cv_x$ to this
equation, we get $C"2 = 1$ unless $v_x =v_y = 0% in $\Omega$. The $C = $1 leads to the $$f equations, and the $f$ is holomorphic. The $C=-13$ results in the $\bar{f}$, therefore $\ holomorphic. We'il draw the conclusion. (There is another way that does not benefit from first question in Excercise 1. Take
laplacesian from $u”2-v"2$2. and $uv$, we get $(u_x)"2+(u_y)"2=(v_.x) * 2 + (v_y) * 2% and $u_xv_x + u_yv_y =0$, which implies $(u_x+iv_x)"2 + (u_y +iv_y)*2 = 0$. Therefore, $$ (u_x+Vv_y+iv_X -iu_y)u X -v_y+iv_x+iu_y) = 0. $$ Use $ab=0 \Leftarrow a\bar{b}=0$, we get $$ (u_x+v_y+iv_Xx-iu_y)u x
-V_y-iv_X-iu_y) = 0. $$ Put $g = u_x+v_y+iv_x - i u_y$ and $h = u_x -v_y-ivx-iu_y$, we get $gh= 0$ It's easy to check if $3g and $$h are holomorphic (by checking the Koshi-Riman equations, we get $$u_x-iu_y$ and $$v_y+iv_x$ are holomorphic). We claim that $g=0% in $Omega$ or $h =0 $ in $\
Omega$. Suppose the opposite, because $Z(g)$ and $Z(h)$are counting sets, $Z(gh)$ should be a counting set, which is contrary to $Z(GH)=\Omega$. The $g=0$ leads to $f$ is holomorphic. The $h=$0 leads to $\bar{f}$is holomorphic. $\Box$ 3. If $u$ is a harmonious feature in a region $\Omega$,
how about a set of points where the $$u gradient is $0? (This is the set on which $u_x = u_y = $0.) Proof. $K = \{z:u_x(z) = u_y(z) = 0\}$ no limit in $\Omega$ (therefore there are most counting items) or $K = Omega$. Put $f = u_x - 1 u_y $. If $u$l is the harmonium, $f$100 is a holomorphic function,
checking out Kashi-Ryman's equations. Moreover, because $K = Z(f)$, we get the conclusion. (The $K =\Omega$ results in $u_x = u_y = $0 $u in $\ Omega$. $\Box$ 1. Suppose $\Delta$ is a closed equinox triangle on the plane, with $a$, $$b, $$c. Find $\max (|z-a|| z-b|| $1.4. as $z $1.4 billion range
above $\Delta$. Proof. $\max = \sqrt{3}|b-a|*3/8%. [lo makcumanHata mogynHa teopem, umame $$ \max\limits_{ z \ in\Delta}(|( z-a(z-b)(z-c)|) = \max\limits_{ z\in\uact\Oenta}(|( z-a(z-b)(z-c)|). $$ Cera e enemeHTapHO Aa ce Hamepn MakCMMyMa Ha gscHarta cTpaHa, KoeTo ce nocrtura, korato $z $ e egHa ot
cpefHuUTe ToYkM Ha pbooseTe $ab$, $bc, n $ca$. HanctnHa, 6e3 3aryba Ha 06LLOTO, Aa NPefnonNokNM, Ye MakCUMyMbT € nocTurHat Ha $z $ Ha $ab $. NocTaseTe $x = |z-a|$ 1 $I = |b-a|$$. Taka ye makcumanHata e $$ x (I-x)\sqrt{(x-1/2) » 2 + (\sqrt{3}l/2) » 2= x(I-x)\sqrt{l*2-x(I-x)}}. $$ Korato $x$
Avanasonun Hag $ [0,1] $, $x(I-x)$ grnanasonn Hag $ [0, | ~2/4]$. MocTaseTe $t = x(I-xX)$, HME nonyyaBame makcumyma e $t\sqrt {I"2-1}$, nnu $\sqrt {I* 2t 2t 2t"2t"3}$. NMponssogHata Ha $IN2t"2t*3% cnopepn $t$ e $(21°2-3t$ , which is greater than or equal to $0$ when $t$ ranges above $[0,1"2/4]$. So
$t\sgrt{I*2-t}$ increases when $$t is run from $0$ to $1"2/4$, and the maximum is achieved when $t = | *2/43$, which is so, $x = 1/2$. $\Box$ 3. Suppose you $f H{Omega)$. Under what conditions can $|f|$ have a local minimum in $\Omega$. Proof. $f$ is constant or $f$ has at least one zero in $iOmega$.
Suppose the $$f is not permanent and there is no zero in $\Omega$. So $-1\in HAOmega)$ and $|f|$ has a minimum in $$a$ iff $|f{{-1}|$ there is a local local $a$. By applying the maximum modular theorem, if $|f"{-1}|$ has a local maximum, then $f* {-1}$ must be permanent, therefore $ $f is
constant. So $f doesn't have a local minimum of $\ Omega$. (For more details, we believe that the $f $$f case is $f not a constant $a. If $a 0, then $3feq 0 in an open district of $$a. As above, $$f should be permanent in this neighborhood, therefore be permanent in $iOmega $. So, in this case, we can
see that the set of all local minimals of $$f is $$Z(f)$, a set of all zeros of $3f.) $\Box$ 4. $(a)$ Assume that $\Omegas$ is a region, $3D is a disk, $\bar {D}\subset \Omega$, $f\in H (\Omega)$, $3$f is not a constant, and $|f|$ is constant at the $$D limit. Show that the $$f has at least one zero in the $D$.
$(b)$ Find all entire features $f$ such that $|f(z)| = $1 each time $|z|= $1. Proof. $(a)$Suppose there is $f zero in the $$D. If $|f|= 0% to $\partial D$, then from the maximum theorem module, $|f|=0%$ in $3$D, therefore $f$ is constant. So you $feq $100 to $\part of D$, so $f eq 0% to $\ bar{D}$. Insert
$c&gt;03$ is the constant value of $|f|$to $\partial D$. To the maximum modular theorem, we have $|f|\leq c$ in $D$. Consider the $f*{-1}$ at $\bar{D}$. It is clear that $ {-1}\in C(\bar{D})$ and $f*{-1}\in H(D)$. Up to the maximum modular theorem, we have $|f *{-1}| \leq 1/c$ in $D$, therefore $|f| \geq c$
in $D$. So $|f| = C$ in $D$, $f(D) \subset \partD(0;c)$. Through the open mapping theorem, $f$ should be constant at $$D, therefore to be constant at $iOmega$. This contradiction indicates that the $f should have at least one zero in the $D dollars. (In this evidence, we just need $f$ is holomorphic at
$3D$ and continuous at $\bar{D}$.) $(b)$ $f$ is from the $cz*m$, where $|c| = 1$ and $m \geq 0%$. Suppose the $$f is not permanent. With $(a)$, $f$ has at least one zero in $D(0;1)$. The set of all zeros of $f has no limit in $\mathbb{C}$. Because $\bar{D}(0;1)$ is compact, the number of zeros in $f$ in
$D(0;1)$is extreme. Let $a_1, a 2,a_n\in D(0;1)$ be such zeros and $3m_1,m_2 \Ildots,$m_n are zero orders of $3$f at these points. Insert $$\begin{aligned} g(z) &amp;= f(z)\prod\limits_{i=1}" n \left(\1-bar{1-bar{a} iz}{ z-a_i}\{ m_iN\\W\\frac{f(z)}{(z-bar{a}_1)} m_1 m_iN\\\\frac{f(z){z-bar{a} 1)}
m_iN\\W\\frac{f(z){z-bar{a} 1)} m_iN\\\\\frac{f(z){z-bar{a} 1)} m_2 (z-\bar _n{m_n}}}imits_{i= $z _iz 1}" It is clear that $g\in H(\mathbb{C})$ and $$g have zero in $D(0;1)$. In addition, about $|z| = 1$, we have $3$ \left|\frac{1-\bar{a} iz}{z-a_i}\right| = \left|z.\frac{1/z-bar{a} i}{ z-a_i} \right| =
\left|z.\frac{\bar{z}-bar{a}_i}{ z-a_i} \right| = \left|z.\fracline{\overline{z - a_i}} {z-a_i} \right| = 1\qquad (i=\ overline{1, n}). $$ $|g(2)|||| =19 for each $z\in \partial With $(a)$, $g$ must be a constant, which will be marked with $c$. Apparently $|c|=$1. If there is a $i$ TakuBa, ye $a_ieq 0%, cneq Toea $g
(1N\bar{a} i) = 0 $, koeTo e npoTnBopeune Ha $|c|=1%$. Taka $n=1%$ n $a_1 = 0%$. ToBa o3HayaBa, ye $f(z) = cz *m_1}$, kbaeto $|c|=1%$ n $m_1 &gt; 0$. 3aegHo cbe cnyyasa $f$ e noctosHHa, BKagame, ye $f$ Tpsabea ga 6bae BbB hopmata $cz"m}$, kbaeto $|c|=1$ n $m_geq 03$. B kpaiHa cmeTKa e SAICHO,
ye Te3n PyHKLMM OTroBapsT Ha nsnckeaHuaTa HU. $\Box$ 5. [la npegnonoxunm, ye $\Omega$ e orpaHmnyeHa obnact, $\ f_n\} $ e nocnegoBartenHocTt oT HenpekbcHaTU yHKUMK Ha $\bar{\Omega}$, konto ca xonomopdHu B $\Omera$, n $\{f n\}$ ce koHBepcupa paBHoOMepHO Ha rpaHuyata ot $\Omega$.
[okaxeTe, ye $\{f_n}$$ ce cenBa paBHOMepHO Ha $\bar{\Omega}$. [lokazaTencrso. Onpassam $\encunoH &gt; 0$. Mima $N$ goctarbyHo ronsam, ye 3a scekn $m,n &gt; N$, umame $f_n(z) - f_m(z)| &lIt; \epsilon$ 3a Bcekn $z\ yact yact \Omera$. OT MakcMmanHaTa TeopemM Ha Mmogyna, 3a Bcekn $m, n&gt;N$,
nvame $ $f_n(z) - f_m(z)| &lt; \epsilon \qquad (*) $3$ for every $z\in \bar{\Omega}$. So for each $z\in \partia\Omega$, $\{f n(z)\}$ is a Cauchy sequence, hence converges. For each $z$, put $f(z)$ be this limit. Let $m$ converges to $\infty$ in $(*)$, we get the conclusion that $\{f n\}$ converges to $f$
uniformly on $\bar{\Omega}$. $\Box$ 6. Suppose $fin HA\Omega)$, $\Gammas$ is a cycle in $\Omega$ such that $\mathrm{ind}_{\Gamma}(\alpha) = 0$ for all $\alpha otin \Omega$, $|f(\zeta)|\leq 1$ for every $\zeta \in\Gamma*$, and $\mathrm{Ind}_{\Gamma}(z) eq 0$. Prove that $|f(z)|\leq 1$. Proof.
Let $US$ be an open connected component of $imathbb{C}\backslash \Gamma$ such that the index of any point in $U$ with respect to $\Gammas$ is not zero. So $U$ is bounded and, by assumption, $U \subset \Omega$. Let $z \in \partial U$. Because $z otin U$ and also $z$ can not be in any other
component of $\mathbb{C}\backslash \Gamma$, we have $z\in \Gamma$. So $\partial U\subset \Gamma$ and $\bar{U} \subset \Omega$. By assumption, we get $\|\| _{\partial U} \leq 1$. Moreover, because $U$ is bounded, we have $\bar{U}$ is compact. By the maximum modulus theorem, we get $|f(z)|
\leq 1% for every $z\in U$. So 3$|f(z)|\leq 1% for every $z$ such that $\mathrm{ind}(z) eq 0$. $\Box$ 7. In the proof of Theorem 12.8 it was tacitly assumed that $M(a)&gt;0$ and $M(b) &gt; 03$. MokaxeTe, ye TeopeMbT € BepeH, ako $M(a) = 0 $, n ye cnep ToBa $f(z) = 0% 3a Bcuukmn $z\8 \Omera$.
[okaszaTtencteo. Korato $M(a) = 0 $, nomucnete 3a cermeHta $L = \{a+ yi: y\ in (0,1)\}$, AcHo e, ye $f$ nsuessar Ha $L$. MNMocTtaBeTe $\Theta =\ Omera \ vawa L \cup \{ x+ yi: 2a - b &lt; x &It; b\}$. Mo npuHumMn Ha oTpaxeHneTo schwarz nonyyasame cyHkums $F \in H\Theta)$, Taka ye $F = f$ Ha $\ Omega
\ cup L$. Tnin kato $\Theta$ e pernoH n $F$ nsuessa Ha $L$, $F $ Tpabsa ga ce nsdessart $\Theta$, cnegosarenHo $f$ nsuessar Ha $\Omeras$. C gpyrn gymu, umame $M(x) = 0$ 3a Bcuukm $x \ B (a, b)$. (3a ga notBbpAMM, Ye MOXeEM Aa NPUIoKMM NPUHLMNA Ha pasMuCcb/ TyK, MOMUC/eTe 3a kapTaTta $z
\to i(z-a)$.) $\Box $ 15. fla npegnonoxum, $fin $Ain Prove that there is a sequence of $\{z_n\}$ in $$U, such as that $|z_n|\to $1 and $\{f(z_n)}$$ is limited. Proof. The problem is clear about the case $f $1 is constant. For the case$f there's no $$U in the case. For each $r\c (0,1) $, Apply the maximum
modular theorem for the function $f*{-1}$ with domain $\bar{D}(0;r)$, we get $|f(0)|min_{z\in\part D(0;)}|f(z)$, so we get a point $a_r$, so $|a_r| = r$ and 3$|f(a_r)|\leq |f(0)|$. Thus, the sequence $\{a_{1-1/n}\}$ meets our requirements. Now let's assume that $f $1 is not permanent and $f $100 has at least
one zero in 3U $. Place $Z(s)$ is a set of zeros of $$f in $US. It is clear that $Z(s)$has no point limit in $US$. If $Z(f)$ is an unlimited set, then it must have a limit point in $\bar{U}$, which is actually $\part U$. So we get sequence $\{{z_n}\subset U$ conversion to this limit point (hence $z_n|\to 1$) and
$|f(z_n)|=0%$ for every $$n. We will conclude this case. The remaining case is that $Z(e)$ is the final set. Insert $Z(f) = \{a_1,a_2\ldots,a_n\} and let $m_1,m_2 \ldots,m_n$ are zero orders of $$f on $a_1, a_2, \Idots, a_n$, respectively. Insert $$g(z) = \frac{f(z)}} {(z-a_1){m_1}(z-a_2){m_2N\Idots(z-
a_n)}*m_n}}}N\gquad (z\in U). $$ It is clear that $g\in H(U)$ and $g$ there is no zero in $U$. As above, we get a sequence of $z_n\}$ in $3U, such as $$z_n|\to $1 and $|g(z_n)| &lt; M$ for $M &gt; 0$. About $|z|| &gt;\max\{{a_1|| a_2|\Idots,|a_n[}} $, we have $$\begin{ aligned} |f(z)| &amp;quot;= |g(z)||
z_n-a_lM ™M m_1|z_n-a_2| {m_2\ldots|z-a_n|m_n} (1-|]a_1]) {m_1} (1-|]a_2|) {m_2\Ido(1-|a_n|) ~{m_n}. \end{aligned} $$ So for $$n big enough, we have $|z_n| &gt;\max\{|a_1|,|a_2|,\a_n|}} and $$ |f(z_n)| &It; M(1-]a_1|) *m_1}(1-|]a_2|) { m_2}\Ldots(1-|a_n|) “m_n}. $$ The sequence $\{{z_n}$is the one
we want to find. $\Box$16. Suppose $\Omega$ is a limited region, $\in HA\Omega)$, and $$ \limsup\limits_{n\to\infty} |f(z_n)| \leq M $$ for each series $\{z_n\}$in $\Omega$, which shrinks to a limit point of $\Omega$. that $|0 f(z)|\leq M$ for all $z\in \%&gt; $z% Instead, adjust $\epsilon &gt;0$, we will
prove that the set $A = \{z\in \Omega: [f(z)| &gt; M+\epsilon\}} is empty. On the contrary, suppose the $A $ is not empty. It is clear that $A $ is open. Let $U$ be an inappropriate connected open component of $$A and let's $z\in partial U\subset\bar{\Omega}$. There is a series $\{z_n\}\subset U$ such that
$z_n \to z and $|f(z_n)|&gt; M+\epsilon$ for all $n$. Then we have $\limsup_{n\to} |f(z_n)| \geg M + \epsilon$, which is contrary to our hypothesis if $z\in partial \Omega$. So you $z \Omega$ for all $z in partial U$. In other words, $\bar{U}\subset \Omega$. Since $\Omega$ is limited, we have $\bar{U}$ is
a compact kit. Moreover, for $z\ in partial U$, we \geg M + \epsilon$, hence $|f(z)| = M +\epsilon$ (if not then $z2\in A$, therefore $z\ in A\backslash U$, which is an open set, hence $zotin {U}$). Apply the maximum modular theorem for $$f with domain $\bar {U}$, we get $|[f(z)|\leq M + \epsilon$ for every
$2\in U$, which is contrary to our definition of $$U. So $A$100 should be empty. $\Box$ 1. Prove that any meromorphic function of $S72$ is rational. Proof. Note that $3$f must have an isolated singularity at $\infty$, which means that $$f is holomorphic in $D'(\infty;r)=\{z\in\mathbb{C}:|z|&gt; \}}$. This
means that the set of all $$f poles in $\mathbb{C}$is final (because this set has no limit and is a subset of the $\overline{D}(0;r)$) compact set). If we subtract from $f $1 the sum of all the main parts of these pillars, we get an entire function $g $ with isolated exclusivity at $\ infty $. Of course, this
singularity of $$g$\infty$ cannot be an essential singularity due to our hypothesis that $$f is meromorphic at $$S72. If this singularity is interchangeable singularity, then $3$g is limited in a $$infty neighborhood, therefore it's limited to $\mathbb{C}$, so it's constant from Liouville's theorem. If this singularity
is a pole, the bulk of $g$$infty is polinomyal. By subtracting this polynom $g$100, we again get an entire feature with a mobile singularity of $\ infty $. Both cases lead to the same conclusion that $$f is a rational function. $\Box$ 2. Let $\Omega = \{z:|z|&lt;1 \text{= and= }|2z-1|=&gt; 1\}$, and | guess $fin
H(Omega)$. $(a)$ There must be such a sequence of $P_n$ polinomas, so that $P_n\f$ equal to compact subs of $iOmega$? $(b)$ Should there be such a sequence that converges $f $100 000 in $\Omega$? $(c)$Changed the answer to $(b)$ if more than $$f is required, namely that $$f to be
holomorphic in an open set that contains the closing of $\Omega$? Proof. $(a)$Yes. Because the $S*2\backslash \Omega$ is connected (then apply a Runge theorem). $(b)$ No. See. $(c)$ or simply, consider the function $f(z) = z M{-1}$ with a similar argument. $(c)$ No. Consider the function $f(z) = (z-
--fuff{1{10)" - 1}$. Suppose there is a sequence of $P_n$ $P_n$ so that $P_n$ converges to $f$ equally in $\Omega$. That is, there is a $P $100,000 so $$ | P(z) - (z-1/10) -1} &lt; 1= $$= for= every= $z\in= \omega$.= fix= $z= \in= \partial= d(0;1)3$.= let= $\{z_n\}$= be= a= sequence= in= $\omega$=
converges= to= $z%$.= we= have= $$\begin{aligned}= |p(z)|=\lim\limits_{n\to\infty}| P(z_n)| &amp;\leq= 1= +=\lim\limits_{n\to\infty)\frac{1}{\left|= z_n-1/10\right|= }=1 += \frac{1}{\left|= z-1/10\right|= \= &amp;\leq= 1= += \frac{1}{1= -= 1/10}=&gt;&lt; 3.= \end{aligned}= $$= by= the= modulus= theorem,=
$|p(z)|=&gt;&lt; 3%= for= every= $z=\in= d(0;1)$.= however,= for= $z=\frac{-1}{10}$, we= have= $$= |p(-1/10)|=&gt; \frac{1}{\left|-1/10 - 1/10\gacHol} - 1 = 4. $$ Tos.a &lt;/1&gt; &It;/1&gt; $(z---frac{1}{10}) $1-$$1 $Box$3. $$P, $1.00, $P $1,$n -1.2.3,Idots, $P $0, $0, $0, $zeq $0, $0, $0, $$n $?
fokasartencteo. fa. $$n, $$K$$D-n-cup L_'n'cup-cup-$, '$D'n' 'bar'd(0;n): 'mathrm’'Im'z-geq 'frac{1}'n'$, $L'n 'X'yi: Y-0, 'frac{1}'n'leq 'x'leq n.'ng$.... $$US$D-L_n $$V$0, $0, $0, $0, $0, $0, $0, $0, $0, $$U $$VS$. $0to $ $fV_n U_n 0 to $0, $ $U 0, $1,$$1 to $1 $V$. '$S '2''K_n"'$', 'K_n' Runge, $$P, $07,
$07, $1, $1, $1, $1, P_n (2) - f_n (2) 'Frac{1}'n$' $z $K_n, $15 P_n (z) 'Frac{1}'n$' $z D_n $L_n $00.00 P_n (0)-1 Frac{1}$. It's not going to be a problem. $D_n L_n, $-math-backslash, $-c-backslash, $-c-backslash, $-C-backslash, '$P'n' -$P'n(to 1) 'to 1 $3n $$z eq $0, $$P$0 - $0- $0- $$n $0. $$P -$P-
P_n(0) - $1, $1, $Box$4. $$P $3$$5$$$%1.limits_ $. P_n (z) 'begin'cases’ 1 'text’ It's not going to be the one. 2000000
000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000-0000000s 0 $0 $$. Aa. $3n, $SK$$D-cup E_n-cup L_n, $D -n-z-in-bar-D(0;n): {1} $E 'n' 'z-in-
bar'D(0;n):'Mathrm'Im'n'leg-frac{1} '$L'n' 'x' yi:y'0, 'x's 'leq n'$". $3USSD,PVISESSSWISLS, $$U,$VE, $$WS. '$f'n'in H (U_n-cup V_n 'cup W_n") $1 -$1,$U$, $1 -$$V$, $0-$$L.s. '$S 2" 'K_n"'$', 'K_n' Runge, $$P, $07, $07, $1, $1, $1, $1, P_n(z)-f_n () 'Frac{1}'n$' $z $K_n, $15 P_n (2)-1 $$z$%$z, $D_n {1}
P_n (2) 'Frac{1}$$z $E_n, $19 P_n (2) It's ${1}$$z $L_n. $$D_n, $$E_n, $L_n,$, $1,00, $1,000, $1,000, $1,000, O't, '$$P's $1.' $Box $7. that in Theorem 13.9 we should not assume that $A$ crosses each component of $S*2\backslash\Omega$. Singly enough to assume that closing the $A$ crosses each
component of $S” 2\backslash \Omega$. Proof. We have $\Omega$ is an alliance from the series $K_n$ is located inside $K_{n+1$$ for every $$n, each compact subset $i\Omega$ is located in some $K_n$, and for every $$n, each component of $S*2+ backslash K_n$ contains a component of $S72
\backslash \Omega$ (Theorem 13.3). Fix $n $. Follow the proof of theorem 13.9, it is enough to show that each component of the $S”2\back slash K_n contains a point of $$A. let $U$ be a component of $S”2\backslash K_n $US$. It is clear that $$U is open $S. $U \cap Aq \varnothing$. $\Box$ 8. In which
$\Omega$ is the entire plane, with a direct argument that does not appeal runge's theorem. Proof. For each $n$, simply denote $\bar{D}(0;n)$ $K_n$. Place $A_1 = A\cap K_13$, and for each $n \geq 2%, insert $A_n = Alcap(K_n\backslash K_{n-1})$. It's easy to see that every $A_n$ is extreme. Now for
every $n$, put $$Q_n(z) = \sum\limits_{\alpha\in A_n} P_{\alpha}(z). $$ For every $n$, we have $Q_n$ is a rational function and the poles of $Q_n$ lie in $A_n$. Fix $n \geq 2 $. We $Q_n$ is holomorphic in an open set containing $K_{n-1}$. Consider presenting the series from $$Q to $0$ and recall that
$K_{n-1}$ is $\bar{D}(0;n-1)$, we get the energy series to converge evenly in $Q_n$ at $K_{n-1}$. That is, we have a $R_n$ so much that $$ | R_n(z) - Q_n(z)| &lt; 2 M{-n)\gquad (z\in K_{n-1}). $$ Follow the proof of Mitag-Leffler's theorem, we can see that the function $$f(z) = Q_1(z) +
\sum_{n=2}\infty}(Q_n(z) - R_n(z)\qquad (z\in \in\c}) $1000 has the desired properties. $\Box $ 9. Suppose $\Omega$ is just a connected region, $iin H\Omega)$, $$f has zero in $\Omega$, and $3$n is a positive integer. Prove that there is $g\in H\Omega)$, so $g”n = f$. Proof. Let me $h$ is a
holomorphic logarithm of $$f in $\Omega$ (existence comes from the hypothesis that $\Omega$ is just a connected region, $f\in H\Omega)$, and $$f has zero in $\Omega$). Now the $g = \exp(h/n) $ is in $HN\Omega)$ and $g” n = \exp(h) = f$. $\Box $ 10. Assume that $\Omega$ is a region $fin
H(\Omega)$, and $feq 0. Prove that $$f has a logarithm in $\Omega$ if and only if $$f has holomorphic $n$ -th roots in ${Omega$ for each positive integer $n$. Proof. The $(Rightarrow)$ side is clear, $$n-a-root of $3$f is $\exp(g/n)$, where $3g is a holomorphic logarithm at $\Omega$ $f$. For
$(\Leftarrow) $ country, at the beginning, we will show that $f$ does not have zero in $\ Omega$. Suppose you $f(a) = $0 for some $a\ Omega$. Since $$feq 0, we have $$f(z) = (z-a) *m(z)$, where $$mé&gt;0 is in the order of zero $$f at $$a, $g\in H({Omega)$, and $g(a) eq 0$. Consider holomorphic
$(m+1)$th root $varphi$ from $3f. Since $\ varphi (a) = $ and $\ varphi eq 0 $, we have $\varphi(z) = = where $h\in H\Omega)$. Therefore$g(z) = (z-a)h(z)*{m+1}$ and this gives us $g(a) = 0$ (contradiction). To show that $$f has a logarithm in 0%Omega$, it is enough to show that
$B\int_{\gam}\frac{f'(z)}}\,dz = 0/qquad (*) $$$ for each closed path $igamma$ in $iOmega$. Suppose $$3$$ is true for every closed road in $\Omega$. Adjust $z_0\in \Omega$ and let $$1_0 be logarithm at $$f(z_0)$ (this logarithm exists because $f(z_0)eq 0%). Let $L$ is a feature in $\Omega$, defined by
$$L(z) = 1_0 + int_ \Gamma(z)}\frac{f'(zeta) {f(zeta)}\d\zeta\qquad (z\in\Omega), $$ $ $ $ $ $ where $\Gamma(z)$is each time from $\$ from $z_0$ to $z3$. Due to $/$, this feature is well defined. Fix $a\in \Omega$. For all $D(a;r)\subset\Omega$ and all $z\in D'(a;r)$, we have $$\frac{L(z)-L(a){z-a}-a}-
f'(@}HI(N)} = \frac{1{z-ap\int_{[a,z]Neft(\frac{f'(zeta){ f(\zeta)}{f'(zeta)}}\frac{f'(a){f(a)}\right)\, I'm not going to be $$ Because $f/f$ is continuous at $a $, it is easy to see that the $L'(a) = f'a/f(a)$. So the $L\in H (\Omega)$ and the formula $L'=f/f$gives us $(exp(L) / f)'= 0$. Therefore, $\exp(L)/f =
\mathrm{const} = \exp(L(z_0))/f(z_0)= 1$. So $L$ is a holomorphic logarithm $f $100 million in $\Omega$. In the end, to show that $$3$3$ is true, we notice that $\frac{1}{2\pi i} $ times on the left side of $$$$$$ is the $f\circ$$$at $0$, which is an integer. OcBeH ToBa, ako $g$ e xonomopdreH $n$-Tn KopeH ot
$f$ B $\Omera$, cneg toea $3$ \$ \frac{1}{2\pi ipint_{\gamma}\frac{f'(z2) {f(2)}\,dz = \frac{n}{2\pi} \int_{\gamma}\frac{g'(z){g(2)\,dz. $$ OacHaTa cTpaHa e usino 4Yncno, KoeTo ce aenun Ha $n$. Hue nonyyaBame 3aKOUYEHNETO, KATO 0TOENsA3BaME, Ye $0$ e YHMKa/THOTO LsSI0 YMC0, KOETO € AeNIMMO OT BCUYKU
nonoxutenuun yicna. $\Box $ 11. Aa npegnonoxmm, ye $f n\in H\Omega)$ ($n= 1,2,3,\Idots$), $f$ e cnoxHa pyHkunsa B $\ Omera$, n $f(z) = \lim_{n\to\infty}f n(z)$3a Bcekun $z\in Omera$. [okaxu, ye $\Omega$ nma NN1bLTHO 0TBOPEHO NoaMHoxecTBo $V$, Ha koeTo $f$ e xonomopdhHa. Hamek.
Moctasete $\varphi = \sup|f_n|$$ M3nonssaiTte Teopemute Ha Baire to prove that each disk in $\Omega$ contains a disk that has $\varphi$limited. Apply Drained 10.5. (In general, $Veq\Omega$. Compare Excercises 3 and 4.) Proof. Insert $\varphi(z) = \sup_n |f_n(z)|$ for each $z \in \Omega$. It is well
defined because $\lim_{n\to\infty} f n(z)$exists (and equals $f(z)$) for every $z \in Omega$. Fix $B$ be closed disk at $$\Omega$ (so $$B is finished). For each $n$, place $A _n = \{z\ in B:\varphi(z) \leq n\}$. From the definition of $\varphi$, it is clear that $3$ A _n = \bigcap\limits_{m=1}" {\infty} \{{z\z\c:
[f_m(z)|\leq n\}. $$ Therefore, $$A_n$ is a closed set at $$B for every $$n. There is $$n through Baire theorem, so $$A_n$ is nowhere near a dense subset of $$B. So $A_n$ contains an open disk $U_B\subset B$ in which $\varphi$ is from the above from $n$. Now, apply Exercise 10.5, we get $f\ in H
(U_B) $. Let $3 $$ = \bigcup\limits_B U_B, $$ where $B $ ranges above all closed disks in $\Omegas$. It is clear that $V$ is a dense open subset of $\Omega$ and $f\ in H(V)$. $\Box $ 10. Suppose $$f and $$g are holomorphic cards of $$U in $+, $$f is one to one, $f(U) = \Omega$, and $f(0) = g(0)$.
Prove&lt;$$ g(D(0;r)\sub-2d(0;0;r)\gquad (0&It; r &lt; 1). Insert $h=f" - 1}\circ g$. Then $h(U)\subsetS 1 and $h(0) = $0. By Schwartz lemma, we have $|h(z)|leq |z|$ for all $z\in U$. Fix $r\ in (0,1)$. If $z\in D(0;r$ it also $h(z)\in D(0;r)$, therefore ${-1}\circ g (z) \in D(0;r)$, and therefore $g(z) \in f(D;0;r))$.
So $g (D(O;N\f(D(0;r)$. $\Box$ 12. Suppose $\Omega$ is a convex area, $\in HA\Omega)$, and $\mathrm{Re}f'(z2)&gt;0$ for all $z\in Omega$$f. (Turn off the trivial $f=$ constant.) Show by example that convex cannot be replaced with a simple connected one. Proof. $$Omega = \mathbb{C}\backslash
[0\infty)$, $f(z) = -iz” {3/2}+z/sqrt{2}$. Let $a, get $a $1,000. We have $$ f(b) - f(a) = \int_{[a,b]}f'(z)\,dz = (b-a)\int_0"1 f'(a+(b-a)t)\, dt. $$ and then $3$\begin{ unification} \mathrm{ReNleft[\frac{ f(b)-f(a)}{b-a}\right] &amp;= \mathrm{Re}left[\int_0"1 f'( a+(b-a)t)\, dt\right]\\W\\\\int_0"int_0"1
\mathrm{Re}left[f'(a+(b-a)t)\right]\, dt &gt; 0. \end{aligned} $$ So we need to have $f(b) eq f(a)$, and that means $$f is one-to-one. Now | guess $\mathrm{ Re}f'(z)\geq 0% for all $z\in \Omega$. Let $Z = \{ z\ in \Omega: \mathrm{Re}f'(z) = 0\} $. Of course, $Z $ is a closed set. Under the average property
$\mathrm{Re}'$ and $\mathrm{Re}f'(z)/geq 0% for all $$z\in \Omega$, it is easy to show that $$Z$ is an open set. So $Z =\ varnothing $ or $Z =\ Omega $. The first case suggests, as we $f$ is one in one in $iOmega$. The second case involves $f'(\Omega)

\subset_in} through the
open mapping theorization, $f' is constant at $\Omega$, $f$ is constant or linear. The linear case also leads to $f$1 to one. So unless it's a constant $$f$ $f$ is always one-to-one when $\mathrm{Re}f'(z)\geq 0$ for all $$z\in \Omega$. For example, a stretch cannot be replaced with simply connected,
consider $\Omega = \mathbb{C}\backslash [0,\infty)$ and $f(z) = -iz * {3/2}+z/\sqt{2}$, as the branch is cut for $z N1/2}$, is $[0,\infty$.$. It is easy to check if $f' (z) = -\frac{3iH{2}zz"1/2} + 1\sqrt{2}$ has a positive real part and $f(i) = f (-i) $. $\Box $ 13. Suppose $\Omega$ is a region, $f n\in HA\Omega)$
for $n=1,2,3\ldots$, each $f _n$ is one-to-one in $iOmega$, and $f n\to f$ evenly on compact subsets of Prove that the $f is either a constant or one-to-one in $\Omega$. Show that both cases can occur. Proof. Assume that there is $a,b\ in\Omega$, so $aeq b$ and $f(a) = f(b)$. Choose $r &gt; 05 0$
\Omera$ n $b otteHaT D(a;r)$. Cnopepg npegnonoxeHneto nmame $f_n(z) - f_n(b) \ga f(z) -f(b)$, paHomepHo Ha $\bar{D}(a;r)$. Cera ot YnpaxHeHue 10.20 c 6enexka, ye $f _n(z) - f_n(b) 0% 3a Bcnukm $z\ B D(a;r)$ n Bcnukn $n$, nmame $f(z) - f(b)eq 0$ 3a Bcnukmn $z\ B D(a;r)$ nnm $f (z) - f(b)=0% 3a
Bcuukun $z\ B D(a;r)$. MbpBUAT ciydait He Moxe aa ce cnyyu, 3awoTo $f(a) = f(b)$. 1 BTopuaT cnydar npegnonara, Ye $f $ e noctosHHa. $\Box $ 16. Heka $\mathcal{F}$ aa 6bae knac Ha Bcmnukm $iin H(U)$, 3a konto $$ \iint\limits_U |72\, d x\, d y \leq 1. ToBa HOpMasIHO ceMelCcTBO /11 e? [lokasaTesiICTBO.
Heka $a \B U$ n $R &gt; 0% TakmBa, ye $D(a;2R) \subset U$. 3a $z\ in D(a; R) $, umame $\bar{D}(z;r) \subset U$ 3a Bcuukmn $r\in (0, R] $. MNog cpefHOTO CBOMNCTBO Ha cTonHOCTTa Ha $f$, nmame $$ f(z) = \frac{1}{2\pip\int_{O}" {2\pi} f(z + renit})\, dt. $$ YMHOXeTe aBeTe cTpaHu ¢ $r$ 1 rn nHTerpmpante
cnopep, $r$ ot $0%$ go $R$, nonyyaBame $$ \frac{R"2H2}(z) = \frac{1H{2\pi}int_0"R \int_0"int_0{2\pi rf(z +"re{it})\,dt. $$ CnepoBarenHo, oT HepaBeHCTBOTO Ha Holder, Hue nvame $$ \begin {nogpasHeHun} [f(z)| &amp;\leg\frac{1}{\pi R*"2\HansBo[\int_0” int_0" int_0" {2\pi} r\, dr\,
dt\HagacHo]{1/2\Hanaso|\int_07int_0"1 22%,
100000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000004D; limits_{1}11000000000
R)BIf(w)|\,dw\right] ~{1/2} \n\fc\frac{1}{\ sqrt{\pi} R}. \end{ aligned} $$ 3a Bcekn komnakTeH Habop $K \, nogMmHOXecTBO \OMera$, moxem aa ro nokprem ¢ $D(a) R)$ ¢ umota, kointo $D(a;2R) \noamaTtH U$. Mo ropHusa aprymeHT $\mathcal{F}$ e paBHOMepHO orpaHu4eHa BbB BCEKWN ANCK, CNnefoBaTeNHO e
paBHOMeEpPHO orpaHmyeHa Ha $K$. Cnopepg Teopem 14.6, Hue 3aktouyaBame, ye $\mathcal{F}$ e HopmasiHo cemeiicTBo. $\Box$$\Box$
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